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QUESTION 1

When does a RADIUS server send an Access-Challenge packet? 

A. The server does not have the user credentials yet. 

B. The server requires more information from the user, such as the token code for two- factor authentication. 

C. The user credentials are wrong. 

D. The user account is not found in the server. 

Correct Answer: B 

 

QUESTION 2

Examine the partial output from two web filter debug commands; then answer the question below: 

Based on the above outputs, which is the FortiGuard web filter category for the web site www.fgt99.com? 

A. Finance and banking 

B. General organization. 

C. Business. 

D. Information technology. 

Correct Answer: C 
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QUESTION 3

View the following FortiGate configuration. 

All traffic to the Internet currently egresses from port1. The exhibit shows partial session information for Internet traffic
from a user on the internal network: 
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If the priority on route ID 1 were changed from 5 to 20, what would happen to traffic matching that user\\'s session? 

A. The session would remain in the session table, and its traffic would still egress from port1. 

B. The session would remain in the session table, but its traffic would now egress from both port1 and port2. 

C. The session would remain in the session table, and its traffic would start to egress from port2. 

D. The session would be deleted, so the client would need to start a new session. 

Correct Answer: D 

 

QUESTION 4

An LDAP user cannot authenticate against a FortiGate device. Examine the real time debug output shown in the exhibit
when the user attempted the authentication; then answer the question below. 
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Based on the output in the exhibit, what can cause this authentication problem? 

A. User student is not found in the LDAP server. 

B. User student is using a wrong password. 

C. The FortiGate has been configured with the wrong password for the LDAP administrator. 

D. The FortiGate has been configured with the wrong authentication schema. 

Correct Answer: A 

 

QUESTION 5

View the exhibit, which contains the output of a web diagnose command, and then answer the question below. 
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Which one of the following statements explains why the cache statistics are all zeros? 

A. The administrator has reallocated the cache memory to a separate process. 

B. There are no users making web requests. 

C. The FortiGuard web filter cache is disabled in the FortiGate\\'s configuration. 

D. FortiGate is using a flow-based web filter and the cache applies only to proxy-based inspection. 

Correct Answer: D 
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